STATEMENT 
22 March 2007

In their ruling the VA states that the reason for their denial of my case rests on the following rules.

The VA states that service connection may not be established for disability due to impaired hearing unless the auditory threshold in any for the frequencies 500, 1000, 2000, 3000, or 400 hertz is 40 decibels (dB) or greater.  I do not argue that this rules applies to me

 The VA states that Service connection may not be established for disability due to impaired hearing unless the auditory threshold for at least three of the frequencies 500, 1000, 2000, 3000, or 4000 hertz are 26 decibels or greater. 

I believe that this rule should be applied in my case and that three of the frequencies cited above are 26 dB or greater in my case. I believe that two of the  three frequencies should be adjudicated under the benefit of the doubt doctrine, stating it is more likely than not, that they are 26 decibels or greater.

 The VA states that hearing tests, given to me and conducted by the VA, indicate that, of the 5 frequencies tested, 1 of the frequencies, the 4000 hertz frequency, resulted in a score of 35 dB loss. This would satisfy the condition for 1 of the 3 required frequencies to be 26 decibels or greater.

The VA states that hearing tests, given to me and conducted by the VA, indicate that, of the remaining 4 frequencies, 2 of the frequencies, the 500 hertz frequency and the 3000 hertz frequency, both resulted in a score of 25 db loss. This would appear to indicate that this reading does not satisfy the condition for 2 of the 3 required frequencies to be 26 decibels or greater.

However, there is a difference of only 1 decibel, between the required measurement of 26 decibels and the reading of two of the measured frequencies, cited above, of 25 decibels.

The resulting difference between the figures is only 1 decibel for each of the  frequencies cited above.
Therefore, the only difference between having a service connection and not having a service connection is 1 decibel for the 500 hertz frequency and 1 decibel for the 3000 frequency.

In defense of my position that the VA has erred in their finding of No Service Connection due to a 1 decibel shortfall for frequencies 500 hertz and 3000 hertz, I offer the following:

1) The difference of 1 dB is impossible to measure.

2) "Just-perceptible" volume changes (louder or softer) happen at about 3 dB change. Therefore, it would have been impossible for me to hear a 1 dB change.

3) There is a standard +/- 3 dB calibration error for all hearing exams.

4) There is a standard +/- 5 dB test-retest rate.

Additionally, because there is only a difference of a single decibel, the following may also have contributed to this shortfall:

1) I, the examinee, made an error when I pressed the button to indicate that a sound was heard because I mistook a sound generated by my body (heartbeat, etc.), which was not issued by the test, but which corresponded in time with the issuance of a test tone.

2) I, the examinee, made an error when I pressed the button to indicate that a sound was heard because I was confused by ringing in my ears.

3) I, the examinee, pressed the button when I imagined a sound that was not heard but which corresponded to an actual sound that was issued by the test. 

4) I, the examinee, pressed the button when I heard a sound that was too soft to be useful in distinguishing anything meaningful.

5) Hearing testing is done under carefully-controlled clinical conditions. These tests are not meant to reflect real-world listening situations. Rather, they are designed to make it possible to give consistent results no matter who tests my hearing; to document and compare changes in my hearing from one year to another; and to compare my hearing loss to hearing losses of other people. This means that the results of these tests only reflect how well I will hear under ideal listening situations. In real-world situations, my hearing will typically be worse. 

Because of these error producing factors, I believe, that it is more likely than not that at least 1 dB  should be added to the reading of 25 dB loss in frequencies 500 and 3000, resulting in a service connection for my right ear,

because

In this case, I believe the application of the benefit-of-doubt doctrine pursuant to 38 U.S.C.A. Sec. 5107 (b), service connection for hearing impairment is warranted because the VA must err on the side of the claimant.

Other Factors:

My middle ears (right & left) are increasingly filling with fluid. I am increasingly experiencing discomfort and itching in both ears.  I am increasingly experiencing headaches. My balance is continuing to deteriorate.  I am experiencing increasing difficulty in hearing the speech of people who are not facing me. It is affecting my job performance. I believe that these conditions are due to or aggravated by noise damage experienced during time of service.

Additionally, during conversations, I frequently have to ask to have words repeated. Sometime I fail to respond to conversation of others. I usually have to ask people to face me when they speak to me. At conferences,  I have to cup a hand to my ear to hear the speaker..  I have been told by VA doctors that I will have to use non-hearing techniques to understand conversation..

After other people complained that the TV was too loud, I purchased a set of earphones that plug into the TV. I was shocked to see that the volume setting on the TV without earphones was 30, but with earphones, was only 7.  Maybe this is why the VA hearing test shows no hearing loss and why the results for the speech part of the hearing exams was considered excellent .

Charles J. Cotnoir

Enclosures:

Hearing Documents form VA

Because the difference between the score that yields a finding of  Service connection cannot be established (25 db loss) and the score that does yield that a Service connection can established (26 db), the following statement is offered to show that the difference of 1 db is

